# Solutions of a higher order difference equation 

## R. Abo-Zeid

Department of Basic Science
The Higher Institute for Engineering \& Technology, Al-Obour Cairo, Egypt

Received: 2018. January 30
MSC 2010: 39 A 20.
Keywords: difference equation, forbidden set, periodic solution, unbounded solution.

$$
\begin{aligned}
& \text { Abstract: } \\
& \text { In this paper, we determine the forbidden set, introduce an explicit formula } \\
& \text { for the solutions and discuss the global behavior of solutions of the difference } \\
& \text { equation } \\
& \qquad x_{n+1}=\frac{a x_{n} x_{n-k}}{-b x_{n}+c x_{n-k-1}}, n=0,1, \ldots, \\
& \text { where } a, b, c \text { are positive real numbers and the initial conditions } \\
& x_{-k-1}, x_{-k}, \ldots, x_{-1}, x_{0} \text { are real numbers. }
\end{aligned}
$$

## 1. Introduction

The study of nonlinear difference equations that having quadratic terms is not easy and worth to be discussed. Results concerning rational difference equations having quadratic terms are included in some publications such as [1]-[21] and the references cited therein.

In [2], we determined the forbidden set and investigated the global behavior of all solutions of the rational difference equation

$$
x_{n+1}=\frac{a x_{n} x_{n-1}}{b x_{n}-c x_{n-2}}, \quad n=0,1, \ldots,
$$

where $a, b, c$ are positive real numbers and the initial conditions $x_{-2}, x_{-1}, x_{0}$ are real numbers.

[^0]In this paper, we determine the forbidden set, introduce an explicit formula for the solutions and discuss the global behavior of solutions of the difference equation

$$
\begin{equation*}
x_{n+1}=\frac{a x_{n} x_{n-k}}{-b x_{n}+c x_{n-k-1}}, \quad n=0,1, \ldots, \tag{1.1}
\end{equation*}
$$

where $a, b, c$ are positive real numbers and the initial conditions $x_{-k-1}, x_{-k}, \ldots, x_{-1}, x_{0}$ are real numbers.

We have been investigated the global behavior of all possible solutions of equation (1.1) when $k=1$ in [1].

## 2. Forbidden set and solutions of equation (1.1)

In this section we derive the forbidden set and introduce an explicit formula for the solutions of the difference equation (1.1).

Proposition 2.1. The forbidden set $F$ of equation (1.1) is $F=\bigcup_{n=0}^{\infty}\left\{\left(v_{0}, v_{-1}, \ldots, v_{-k-1}\right) \in \mathbb{R}^{k+2}: v_{0}=v_{-k-1}\left(\frac{c}{b \sum_{l=0}^{n}\left(\frac{a}{c}\right)^{2}}\right)\right\} \cup$ $\cup \bigcup_{i=0}^{k}\left\{\left(v_{0}, v_{-1}, \ldots, v_{-k}, v_{-k-1}\right) \in \mathbb{R}^{k+2}: v_{-i}=0\right\}$.

Proof. Suppose that $\prod_{i=0}^{k+1} x_{-i}=0$. Then we have the following:
If $x_{0}=0$ and $\prod_{i=1}^{k+1} x_{-i} \neq 0$, then $x_{k+2}$ is undefined.
If $x_{-k}=0$ and $\prod_{i=0, i \neq k}^{k+1} x_{-i} \neq 0$, then $x_{2}$ is undefined.
By induction we can show that, if for a certain $i_{0} \in\{0,1, \ldots, k\}$, such that $x_{-i_{0}}=0$ and $\prod_{i=0, i \neq i_{0}}^{k} x_{-i} \neq 0$, then $x_{k-i_{0}+2}$ is undefined.

Finally, if $x_{-k-1}=0$ and $\prod_{i=0}^{k} x_{-i} \neq 0$, then $x_{1}=-\frac{a}{b} x_{-k} \neq 0$. It follows that we can start with the nonzero initial point $\left(x_{1}, x_{0}, x_{-1}, \ldots, x_{-k}\right)$, which the case we shall investigate.

Suppose that $x_{-i} \neq 0$ for all $i \in\{0,1, \ldots, k+1\}$. From equation (1.1), using the substitution $l_{n}=\frac{x_{n-k-1}}{x_{n}}$, we can obtain the first order difference equation

$$
\begin{equation*}
l_{n+1}=\frac{c}{a} l_{n}-\frac{b}{a}, \quad l_{0}=\frac{x_{-k-1}}{x_{0}} . \tag{2.1}
\end{equation*}
$$

Consider the function $\phi(x)=\frac{c}{a} x-\frac{b}{a}$ and suppose that we start from an initial point $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right)$ such that $\frac{x_{-k-1}}{x_{0}}=\frac{b}{c}$.

The backward orbits $u_{n}=\frac{x_{n-k-1}}{x_{n}}$ satisfy

$$
u_{n}=\phi^{-1}\left(u_{n-1}\right)=\frac{a}{c} u_{n-1}+\frac{b}{c} \quad \text { with } \quad u_{0}=\frac{x_{-k-1}}{x_{0}}=\frac{b}{c} .
$$

It follows that $u_{n}=\frac{x_{n-k-1}}{x_{n}}=\phi^{-n}\left(u_{0}\right)=\frac{b}{c} \sum_{i=0}^{n}\left(\frac{a}{c}\right)^{i}$.
Therefore, $x_{n}=x_{n-k-1}\left(\frac{c}{b \sum_{i=0}^{n}\left(\frac{a}{c}\right)^{2}}\right)$.
On the other hand, we can observe that if we start from an initial point $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right)$ such that $l_{0}=\frac{x_{-k-1}}{x_{0}}=\frac{b}{c} \sum_{i=0}^{n_{0}}\left(\frac{a}{c}\right)^{i}$ for a certain $n_{0} \in \mathbb{N}$, then according to equation (2.1) we obtain

$$
l_{n_{0}}=\frac{x_{n_{0}-k-1}}{x_{n_{0}}}=\frac{b}{c} .
$$

This implies that $-b x_{n_{0}}+c x_{n_{0}-k-1}=0$. Therefore, $x_{n_{0}+1}$ is undefined.
This completes the proof.
Let $\theta=\frac{a-c+b \alpha}{\alpha}$ where $\alpha=\frac{x_{0}}{x_{-k-1}}$.
Lemma 2.2. Let $x_{-k-1}, \ldots, x_{-1}$ and $x_{0}$ be real numbers such that $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right) \notin F$. If $a \neq c$, then

$$
x_{i}=x_{-k-1+i} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{i}-b}, \quad i=1,2, \ldots, k+1 .
$$

Proof. The proof is by induction on $i$, where $i \in\{1,2, \ldots, k+1\}$.
When $i=1$,

$$
x_{1}=\frac{a x_{0} x_{-k}}{-b x_{0}+c x_{-k-1}}=\frac{a \frac{x_{0}}{x_{-k-1}} x_{-k}}{-b \frac{x_{0}}{x_{-k-1}}+c}=\frac{a \alpha x_{-k}}{-b \alpha+c} .
$$

But as $\theta=\frac{a-c+b \alpha}{\alpha}$, we get $\alpha=\frac{a-c}{\theta-b}$.
It follows that

$$
x_{1}=\frac{a \alpha x_{-k}}{-b \alpha+c}=\frac{a-c}{\left(\frac{c}{a}\right) \theta-b} x_{-k} .
$$

Suppose for $1 \leq i \leq k$ that $x_{i}=x_{-k-1+i \frac{a-c}{\theta\left(\frac{c}{a}\right)^{i}-b}}$. Then

$$
x_{i+1}=\frac{a x_{i} x_{i-k}}{-b x_{i}+c x_{i-k-1}}=\frac{a \frac{x_{i}}{x_{i-k-1}}}{-b \frac{x_{i}}{x_{i-k-1}}+c} x_{i-k}
$$

$$
\begin{aligned}
& =\frac{a(a-c)}{-b(a-c)+c\left(\theta\left(\frac{c}{a}\right)^{i}-b\right)} x_{i-k}=\frac{a(a-c)}{-b a+b c+c \theta\left(\frac{c}{a}\right)^{i}-c b} x_{i-k} \\
& =\frac{(a-c)}{\left(\frac{c}{a}\right)^{i+1} \theta-b} x_{-k+i}
\end{aligned}
$$

This completes the proof.
Theorem 2.3. Let $x_{-k-1}, x_{-k}, \ldots, x_{-1}$ and $x_{0}$ be real numbers such that $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right) \notin F$. If $a \neq c$, then the solution $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ of equation (1.1) is

$$
x_{n}=\left\{\begin{align*}
x_{-k} \prod_{j=0}^{\frac{n-1}{k+1}} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1) j+1}-b}, & n=1, k+2,2 k+3, \ldots,  \tag{2.2}\\
x_{-k+1} \prod_{j=0}^{\frac{n-2}{k+1}} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1) j+2}-b}, & n=2, k+3,2 k+4, \ldots, \\
\vdots & \\
x_{-1} \prod_{j=0}^{\frac{n-k}{k+1}} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1) j+k-b}}, & n=k, 2 k+1,3 k+2, \ldots, \\
x_{0} \prod_{j=0}^{\frac{n-(k+1)}{k+1}} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1) j+k+1}-b}, & n=k+1,2 k+2,3 k+3, \ldots,
\end{align*}\right.
$$

where $\theta=\frac{a-c+b \alpha}{\alpha}$ and $\alpha=\frac{x_{0}}{x_{-k-1}}$.
Proof. We can write the given solution (2.2) as
(2.3) $x_{(k+1) m+i}=x_{-k-1+i} \prod_{j=0}^{m} \gamma_{i}(j), i=1,2, \ldots, k+1$ and $m=0,1, \ldots$,
where

$$
\gamma_{i}(j)=\frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1) j+i}-b}, \quad i=1,2, . ., k+1 .
$$

When $m=0$, we have

$$
x_{i}=x_{-k-1+i} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{i}-b}, \quad i=1,2, \ldots, k+1,
$$

which is true by Lemma (2.2).

Now for $m \geq 0$, we can see that

$$
\begin{aligned}
& \frac{a x_{(k+1)(m+1)+i} x_{(k+1) m+i+1}}{-b x_{(k+1)(m+1)+i}+c x_{(k+1) m+i}}=\frac{a x_{-k-1+i} \prod_{j=0}^{m+1} \gamma_{i}(j) x_{-k+i} \prod_{j=0}^{m} \gamma_{i+1}(j)}{-b x_{-k-1+i} \prod_{j=0}^{m+1} \gamma_{i}(j)+c x_{-k-1+i} \prod_{j=0}^{m} \gamma_{i}(j)} \\
= & \frac{a x_{-k-1+i} \prod_{j=0}^{m+1} \gamma_{i}(j) x_{-k+i} \prod_{j=0}^{m} \gamma_{i+1}(j)}{x_{-k-i+1} \prod_{j=0}^{m} \gamma_{i}(j)\left(-b \gamma_{i}(m+1)+c\right)}=\frac{a \gamma_{i}(m+1) x_{-k+i} \prod_{j=0}^{m} \gamma_{i+1}(j)}{-b \gamma_{i}(m+1)+c} \\
= & \frac{a \overline{\theta\left(\frac{c}{a}\right)(k+1)(m+1)+i-b} x_{-k+i} \prod_{j=0}^{m} \gamma_{i+1}(j)}{-b \overline{\theta\left(\frac{c}{a}\right)(k+1)(m+1)+i-b}+c}=\frac{a(a-c) x_{-k+i} \prod_{j=0}^{m} \gamma_{i+1}(j)}{-b(a-c)+c\left(\theta\left(\frac{c}{a}\right)^{(k+1)(m+1)+i}-b\right)} \\
= & \frac{a(a-c) x_{-k+i} \prod_{j=0}^{m} \gamma_{i+1}(j)}{c \theta\left(\frac{c}{a}\right)^{(k+1)(m+1)+i}-a b}=x_{-k+i} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1)(m+1)+i+1}-b} \prod_{j=0}^{m} \gamma_{i+1}(j) \\
= & x_{-k+i} \gamma_{i+1}(m+1) \prod_{j=0}^{m} \gamma_{i+1}(j)=x_{-k+i} \prod_{j=0}^{m+1} \gamma_{i+1}(j)=x_{(k+1)(m+1)+i+1} .
\end{aligned}
$$

This completes the proof.

## 3. Global behavior of equation (1.1)

In this section, we investigate the global behavior of equation (1.1) with $a \neq c$, using the explicit formula of its solution.

Theorem 3.1. Let $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ be a solution of equation (1.1) such that $\left(x_{0}, x_{-1}\right.$,
$\left.\ldots, x_{-k-1}\right) \notin F$. Then the following statements are true.

1. If $a<c$, then $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ converges to 0 .
2. If $a>c$, then we have the following:
(a) If $\frac{a-c}{b}<1$, then $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ converges to 0 .
(b) If $\frac{a-c}{b}>1$, then $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ is unbounded.

Proof. 1. If $a<c$, then $\gamma_{i}(j)$ converges to 0 as $j \rightarrow \infty, i=1,2, \ldots, k+$ 1. It follows that, for a given $0<\epsilon<1$, there exists $j_{0} \in \mathbb{N}$ such
that $\left|\gamma_{i}(j)\right|<\epsilon$ for all $j \geq j_{0}$ and $i=1,2, \ldots, k+1$. Therefore, for each $i \in\{1,2, \ldots, k+1\}$, we have

$$
\begin{aligned}
\left|x_{(k+1) m+i}\right| & =\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{m} \gamma_{i}(j)\right| \\
& =\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{j_{0}-1} \gamma_{i}(j)\right|\left|\prod_{j=j_{0}}^{m} \gamma_{i}(j)\right| \\
& <\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{j_{0}-1} \gamma_{i}(j)\right| \epsilon^{m-j_{0}+1} .
\end{aligned}
$$

As $m$ tends to infinity, the solution $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ converges to 0 .
2. Suppose that $a>c$. Then we have the following:
(a) If $\frac{a-c}{b}<1$, then $\gamma_{i}(j)$ converges to $-\frac{a-c}{b}>1 \in(-1,0)$ as $j \rightarrow \infty, i=1,2, \ldots, k+1$. This implies that, there exists $j_{1} \in \mathbb{N}$ such that $\gamma_{i}(j) \in\left(\mu_{1}, 0\right)$, with some $0>-\frac{a-c}{b}>\mu_{1}>$ -1 for all $j \geq j_{1}$ and $i=1,2, \ldots, k+1$. This implies that, $\left|\gamma_{i}(j)\right|<\left|\mu_{1}\right|$ for all $j \geq j_{1}$ and $i=1,2, \ldots, k+1$. Therefore, the solution $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ converges to 0 as in (1).
(b) If $\frac{a-c}{b}>1$, then $\gamma_{i}(j)$ converges to $-\frac{a-c}{b}<-1$ as $j \rightarrow \infty$, $i=1,2, \ldots, k+1$. Then for a given $-\frac{a-c}{b}<\mu_{2}<-1$ there exists $j_{2} \in \mathbb{N}$ such that $\gamma_{i}(j)<\mu_{2}<-1$, for all $j \geq j_{2}$ and $i=1,2, \ldots, k+1$.
For large values of $m$ we have for each $i \in\{1,2, \ldots, k+1\}$

$$
\begin{aligned}
\left|x_{(k+1) m+i}\right| & =\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{m} \gamma_{i}(j)\right| \\
& =\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{j_{2}-1} \gamma_{i}(j)\right|\left|\prod_{j=j_{2}}^{m} \gamma_{i}(j)\right| \\
& >\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{j_{2}-1} \gamma_{i}(j) \| \mu_{2}\right|^{m-j_{2}+1} .
\end{aligned}
$$

Therefore, the subsequences $\left\{x_{(k+1) m+i}\right\}_{m=-1}^{\infty}, i=1,2, \ldots, k+$ 1 are unbounded and the result follows.

Example (1) Figure 1 shows that if $k=2, a=2.3, b=1.3$ and $c=1.5$ $(a-c<b)$, then the solution $\left\{x_{n}\right\}_{n=-3}^{\infty}$ with initial conditions $x_{-3}=8$, $x_{-2}=6, x_{-1}=-0.2$ and $x_{0}=1.2$ converges to 0 .
Example (2) Figure 2 shows that if $k=2, a=2.1, b=1.2$ and $c=0.6(a-c>b)$, then for the solution $\left\{x_{n}\right\}_{n=-3}^{\infty}$ with initial conditions $x_{-3}=-8, x_{-2}=6, x_{-1}=-0.2$ and $x_{0}=-1.2$, we have that the subsequences $\left\{x_{4 n+i}\right\}_{n=-1}^{\infty}, i=1,2,3,4$ are unbounded.


Figure 1: $x_{n+1}=\frac{2.3 x_{n} x_{n-2}}{-1.3 x_{n}+1.5 x_{n-3}}$


Figure 2: $x_{n+1}=\frac{2.1 x_{n} x_{n-2}}{-1.2 x_{n}+0.6 x_{n-3}}$

## 4. Case $a-c=b$

In this section, we study the case when $a-c=b$.
Theorem 4.1. Assume that $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ is a solution of equation (1.1) such that $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right) \notin F$ and let $a-c=b$. If $\alpha=-1$, then $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ is periodic solution with period $2(k+1)$.

Proof. Assume that $a-c=b$. If $\alpha=-1$, then $\theta=0$. Therefore,

$$
\begin{aligned}
x_{(k+1) m+i} & =x_{-k-1+i} \prod_{j=0}^{m} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1) j+i}-b} \\
& =(-1)^{m+1} x_{-k-1+i}, i=1,2, \ldots, k+1 \text { and } m=0,1, \ldots
\end{aligned}
$$

It follows that

$$
x_{(k+1)(m+2)+i}=x_{-k-1+i} \prod_{j=0}^{m+2} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1) j+i}-b}
$$

$$
\begin{aligned}
& =(-1)^{m+3} x_{-k-1+i}=(-1)^{m+1} x_{-k-1+i} \\
& =x_{(k+1) m+i}, \quad i=1,2, \ldots, k+1 \text { and } m=0,1, \ldots .
\end{aligned}
$$

This completes the proof.
Theorem 4.2. Assume that $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ is a solution of equation (1.1) such that $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right) \notin F$ and let $a-c=b$. If $\alpha \neq-1$, then $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ converges to a period-2 $(k+1)$ solution.

Proof. Suppose that $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ is a solution of equation (1.1) such that $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right) \notin F$ and let $a-c=b$. As

$$
\lim _{j \rightarrow \infty} \gamma_{i}(j)=\lim _{j \rightarrow \infty} \frac{a-c}{\theta\left(\frac{c}{a}\right)^{k j+i}-b}=-1, \quad i=1,2, \ldots, k+1
$$

there exists $j_{3} \in \mathbb{N}$ such that, $\gamma_{i}(j)<0$, for all $i=1,2, \ldots, k+1$ and $j \geq j_{3}$.
It follows that

$$
\begin{aligned}
\left|x_{(k+1) m+i}\right| & =\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{m} \gamma_{i}(j)\right|=\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{j_{3}-1} \gamma_{i}(j)\right| \prod_{j=j_{3}}^{m}\left|\gamma_{i}(j)\right| \\
& =\left|x_{-k-1+i}\right|\left|\prod_{j=0}^{j_{3}-1} \gamma_{i}(j)\right| \exp \left(\sum_{j=j_{3}}^{m} \ln \left(\left|\gamma_{i}(j)\right|\right) .\right.
\end{aligned}
$$

For all $j \geq j_{3}$, we can write

$$
\ln \left(\left|\gamma_{i}(j)\right|\right)=\ln \left(-\gamma_{i}(j)\right)=\ln \left(-\frac{a-c}{\theta\left(\frac{c}{a}\right)^{(k+1) j+i}-b}\right)=-\ln \left(1-\left(\frac{\theta}{b}\right)\left(\frac{c}{a}\right)^{(k+1) j+i}\right) .
$$

We shall test the convergence of the series $\sum_{j=j_{3}}^{\infty}\left|\ln \left(\gamma_{i}(j)\right)\right|$.
Let $a_{j}=\ln \left(\left|\gamma_{i}(j)\right|\right)=-\ln \left(1-\left(\frac{\theta}{b}\right)\left(\frac{c}{a}\right)^{(k+1) j+i}\right)$ and $b_{j}=\left(\frac{c}{a}\right)^{(k+1) j}$. Then for each $i \in\{1,2, \ldots, k+1\}$ we get

$$
\lim _{j \rightarrow \infty} \frac{a_{j}}{b_{j}}=\lim _{j \rightarrow \infty} \frac{-\ln \left(1-\left(\frac{\theta}{b}\right)\left(\frac{c}{a}\right)^{(k+1) j+i}\right)}{\left(\frac{c}{a}\right)^{(k+1) j}}=\frac{0}{0} .
$$

Using L'Hospital's rule we obtain

$$
\lim _{j \rightarrow \infty} \frac{a_{j}}{b_{j}}=-\lim _{j \rightarrow \infty} \frac{\left(\frac{-\theta}{b}\right)\left(\frac{c}{a}\right)^{(k+1) j+i} \ln \left(\frac{c}{a}\right)(k+1)}{\left(1-\left(\frac{\theta}{b}\right)\left(\frac{c}{a}\right)^{(k+1) j+i}\right)} /\left(\left(\frac{c}{a}\right)^{(k+1) j} \ln \left(\frac{c}{a}\right)(k+1)\right)=\left(\frac{\theta}{b}\right)\left(\frac{c}{a}\right)^{i} .
$$

Therefore, the series $\sum_{j=j_{3}}^{\infty}\left|\ln \left(\gamma_{i}(j)\right)\right|$ is convergent.
It follows that there are $k+1$ real numbers $\rho_{1}, \rho_{2}, \ldots, \rho_{k+1}$ such that

$$
\lim _{j \rightarrow \infty}\left|x_{(k+1) m+i}\right|=\rho_{i} \quad, i=1,2, \ldots, k+1 .
$$

Now set $\lim _{j \rightarrow \infty} x_{2(k+1) m+i}=\mu_{i}, i=1,2, \ldots, k+1$.
Then we get

$$
x_{2(k+1) m+k+1+i}=x_{-k-1+i} \prod_{j=0}^{2 m+1} \gamma_{i}(j)=x_{2(k+1) m+i} \gamma_{i}(2 m+1) .
$$

It follows that $\mu_{k+1+i}=-\mu_{i}, i=1,2, \ldots, k+1$.
But for each $1 \leq i \leq k+1,\left\{x_{2(k+1) m+i}\right\}_{m=0}^{\infty}$ and $\left\{x_{2(k+1) m+k+1++i}\right\}_{m=0}^{\infty}$ are subsequences of $\left\{x_{(k+1) m+i}\right\}_{m=0}^{\infty}$, from which we get

$$
\left|\mu_{i}\right|=\rho_{i}, \quad 1 \leq i \leq k+1 .
$$

That is

$$
\mu_{i}=\rho_{i} \text { or }\left(-\rho_{i}\right), 1 \leq i \leq k+1 .
$$

Without loss of generality, we can take

$$
\mu_{i}=\rho_{i}, 1 \leq i \leq k+1 .
$$

Then the solution $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ converges to the period- $2(k+1)$ solution

$$
\left\{\ldots, \rho_{1}, \rho_{2}, \ldots, \rho_{k+1},-\rho_{1},-\rho_{2}, \ldots,-\rho_{k+1}, \ldots\right\} .
$$

This completes the proof.

Example (3) Figure 3 shows that if $k=3, a=2.5, b=1.8$ and $c=0.7$ $(a-c=b)$, then the solution $\left\{x_{n}\right\}_{n=-4}^{\infty}$ with initial conditions $x_{-4}=2$, $x_{-3}=-1.8, x_{-2}=-0.1, x_{-1}=-3.1$ and $x_{0}=3.5$ converges to a period-8 solution.
5. Case $a=b=c$

We end this work by introducing the main results when $a=b=c$.


Figure 3: $x_{n+1}=\frac{2.5 x_{n} x_{n-3}}{-1.8 x_{n}+0.7 x_{n-4}}$

Proposition 5.1. Assume that $a=b=c$. Then the forbidden set $G$ of equation (1.1) is
$G=\bigcup_{n=0}^{\infty}\left\{\left(u_{0}, u_{-1}, \ldots, u_{-k-1}\right) \in \mathbb{R}^{k+2}: u_{0}=u_{-k-1}\left(\frac{1}{n+1}\right)\right\} \cup$ $\cup \bigcup_{i=0}^{k}\left\{\left(u_{0}, u_{-1}, \ldots, u_{-k-1}\right) \in \mathbb{R}^{k+2}: u_{-i}=0\right\}$.

Theorem 5.2. Let $x_{-k-1}, \ldots, x_{-1}$ and $x_{0}$ be real numbers such that $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right) \notin G$. If $a=c$, then the solution $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ of equation (1.1) is

$$
x_{n}=\left\{\begin{align*}
x_{-k} \prod_{j=0}^{\frac{n-1}{k+1}} \frac{\alpha}{1-\alpha((k+1) j+1)}, & n=1, k+2,2 k+3, \ldots,  \tag{5.1}\\
x_{-k+1} \prod_{j=0}^{\frac{n-2}{k+1}} \frac{\alpha}{1-\alpha((k+1) j+2)}, & n=2, k+3,2 k+4, \ldots, \\
\vdots & \\
x_{-1} \prod_{j=0}^{\frac{n-k}{k+1}} \frac{\alpha}{1-\alpha((k+1) j+k)}, & n=k, 2 k+1,3 k+2, \ldots, \\
x_{0} \prod_{j=0}^{\frac{n-(k+1)}{k+1}} \frac{\alpha}{1-\alpha((k+1) j+k+1)}, & n=k+1,2 k+2,3 k+3, \ldots,
\end{align*}\right.
$$

where $\alpha=\frac{x_{0}}{x_{-k-1}}$.
Theorem 5.3. Let $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ be a solution of equation (1.1) such that $\left(x_{0}, x_{-1}, \ldots, x_{-k-1}\right) \notin G$. If $a=b=c$, then $\left\{x_{n}\right\}_{n=-k-1}^{\infty}$ converges to 0 .

Example (4) Figure 4 shows that if $k=3$ and $a=b=c$, then the solution $\left\{x_{n}\right\}_{n=-4}^{\infty}$ with initial conditions $x_{-4}=2, x_{-3}=-1, x_{-2}=-0.5$, $x_{-1}=-5.1$ and $x_{0}=3.5$ converges to 0 .


Figure 4: $x_{n+1}=\frac{x_{n} x_{n-3}}{-x_{n}+x_{n-4}}$

## References

[1] R. ABO-ZEID, Global behavior of a third order rational difference equation, Math. Bohem., 139 (1) (2014), $25-37$.
[2] R. ABO-ZEID, Global behavior of a rational difference equation with quadratic term, Math. Morav., 18 (1) (2014), $81-88$.
[3] R. ABO-ZEID and C. CINAR, global behavior of the difference equation $x_{n+1}=$ $\frac{A x_{n-1}}{B-C x_{n} x_{n-2}}$, Bol. Soc. Parana. Math., 31 (1) (2013), $43-49$.
[4] R. ABO-ZEID and M.A. AL-SHABI, Global behavior of a third order difference equation, Tamkang J. Math., 43 (3) (2012), 375 - 383.
[5] R. ABO-ZEID, Global asymptotic stability of a second order rational difference equation, J. Appl. Math. \& Inform., 28 (3) (2010), 797 - 804.
[6] A.M. AMLEH, E. CAMOUZIS, and G. LADAS, On the dynamics of a rational difference equations, part 1. Int. J. Difference Equ., 3 (1) (2008), 1 - 35.
[7] A.M. AMLEH, E. CAMOUZIS, and G. LADAS, On the dynamics of a rational difference equations, part 2. Int. J. Difference Equ., 3 (2) (2008), 195 - 225.
[8] M.A. AL-SHABI, R. ABO-ZEID, Global asymptotic stability of a higher order difference equation, Appl. Math. Sci., 4 (17) (2010), 839 - 847.
[9] I. BAJO and E. LIZ, Global behaviour of second-order nonlinear difference equation, J. Difference Equ. Appl., 17 (10) (2011), 1471 - 1486.
[10] K.S. BERENHAUT, J.D. FOLEY, and S. STEVIC, the global attractivity of the rational difference equation $y_{n+1}=\frac{y_{n-k}+y_{n-m}}{1+y_{n-k} y_{n-m}}$, Appl. Math. Lett., 20 (1) (2007), $54-58$.
[11] E. CAMOUZIS, G. LADAS, I. W. RODRIGUES and S. NORTHSHIELD, On the rational recursive sequence $x_{n+1}=\frac{\gamma x_{n}^{2}}{1+x_{n-1}^{2}}$, Comput. Math. Appl., 28 (1-3) (1994), $37-43$.
[12] M. DEHGHAN, C. M. KENT, R. MAZROOEI-SEBDANI, N. L. ORTIZ and H. SEDAGHAT, Dynamics of rational difference equations containing quadratic terms, J. Difference Equ. Appl., 14 (2) (2008), 191 - 208.
[13] E. A. GROVE, E. J. JANOWSKI, C. M. KENT and G. LADAS, On the rational recursive sequence $x_{n+1}=\frac{\alpha x_{n}+\gamma}{\left(\gamma x_{n}+\delta\right) x_{n-1}}$, Comm. Appl. Nonlinear Anal., 1 (3) (1994), $61-72$.
[14] M.R.S. KULENOVIĆ and M. MEHULJIĆ. Global behavior of some rational second order difference equations, Int. J. Difference Equ., 7 (2) (2012), 153-162.
[15] R. MAZROOEI-SEBDANI. Chaos in rational systems in the plane containing quadratic terms, Commun. Nonlinear Sci. Numer. Simulat., 17 (2012), 3857 3865.
[16] H. SEDAGHAT, Global behaviours of rational difference equations of orders two and three with quadratic terms, J. Difference Equ. Appl., 15 (3) (2009), 215-224.
[17] S. STEVIĆ, Global stability and asymptotics of some classes of rational diffference equations, J. Math. Anal. Appl., 316 (1) (2006), $60-68$.
[18] L. XIANYI and Z. DEMING. Global asymptotic stability in a rational equation, J. Difference Equ. Appl., 9 (9), (2003), 833 - 839.
[19] X. YANG, D.J. EVANS and G.M. MEGSON, On two rational difference equations, Appl. Math. Comput., 176 (2) (2006), $422-430$.
[20] X. YANG, On the global asymptotic stability of the difference equation $x_{n+1}=$ $\frac{x_{n} x_{n-1}+x_{n-2}+a}{x_{n}+x_{n-1} x_{n-2}+a}$, Appl. Math. Comput., 171 (2) (2005), $857-861$.
[21] X.YANG, W. SU, B. CHEN, G.M. MEGSON and D.J. EVANS, On the recursive sequence $x_{n+1}=\frac{a x_{n}+b x_{n-1}}{c+d x_{n} x_{n-1}}$, Appl. Math. Comput., 162 (2005), $1485-1497$.


[^0]:    E-mail address: abuzead73@yahoo.com

